Name: _______________________________ 


Date: _____________

Homework Assignment #3

Directions: Find the calculation of the side of the object from the information given.

	Rhombus with perimeter 16 m, side a = 




	Triangle with perimeter 16 km, side a = 6 km, b = 3 km and c = ___ 





	Equilateral triangle with perimeter 22 m, side a = 




	Octagon with perimeter 13 km, side a = 





	Parallelogram with perimeter 26 m, side l = 9 m and w = ___ 




	Octagon with perimeter 44 cm, side a = 





	Hexagon with perimeter 85 m, side a = 




	Equilateral triangle with perimeter 19 km, side a = 





	Parallelogram with perimeter 18 cm, side l = 4 cm and w = ___ 




	Hexagon with perimeter 90 km, side a = 






